I nepron

Komanpga Cnoptcmen 3oHa KonTposp
XBocthl | Mecto

Kpacnopap-1 IManuu A K. A 13 1,0 1,0
C.ITetepOypr BopobOneB A.A. A 10 2,0 2,0
CraBponosib Caronn I'.C. A 9 3,0 3,0
Pocros-1 Epmusun AT A 8 4,0 4,0
Caparos YepTros B.A. A 7 5,0 5,0
PoctoB-2 CenenpkoB B.A. A 5 6,5 6,5=(6,0+7,0)/2
CMoJIeHCK Komomatikuit B.B. A 5 6,5 6,5=(6,0+7,0)/2
MockBa-2 Moprys [0.A. A 4 8,5 8,5=(8,0+9,0)/2
Kpacnogap-2 Tumenun C.10. A 4 8.5 8,5=(8,0+9,0)/2
MopnoBus I'openos M.C. A 3 11,0 11,0=(10,0+12,0)/2
YensOunck Adanacees C.A. A 3 11,0 11,0=(10,0+12,0)/2
Jluneux Pocnsikos I'.B. A 3 11,0 11,0=(10,0+12,0)/2
Mocksa-1 Myl A.B. A 2 13,0 13,0
SApocnasib [Topoxos II.C. A 1 14,0 14,0
TamboB JlokocoB A.A. A 0 16,0 15,5=(15,0+16,0)/2
Ilensa Jloman B.E. A 0 16,0 15,5=(15,0+16,0)/2

CrpaHuua 1




[ nepron

Komanna Cnoprcmen 3o0Ha Kontposb
XBocthl | Mecto

CraBponosib Jlanta B.B. b 13 1,0 1,0
Kpacnonap-1 HBamkos A.H. b 12 2,0 2,0
Mocksa-1 HaesigoB II.A. b 9 3,5 3,5=(3,0+4,0)/2
Ilensa Kosanes [I.B. b 9 3,5 3,5=(3,0+4,0)/2
Kpacnogap-2 Omnaposckuit [.B. b 7 5,5 5,5=(5,0+6,0)/2
TambOoB Kyk AA. b 7 5,5 5,5=(5,0+6,0)/2
Jlunenx CrnecapeB A.B. b 6 7,5 7,5=(7,0+8,0)/2
SApocnasib Apcenbes E.C. b 6 7,5 7,5=(7,0+8,0)/2
C.IletepOypr I'neymes A.C. b 5 10,0 10,0=(9,0+12,0)/2
YenaOunck Hurmatynun P.A. b 5 10,0 10,0=(9,0+12,0)/2
Caparos Kapemymun K.B. b 5 10,0 10,0=(9,0+12,0)/2
PocTos-1 Bysano I'.A. b 4 13,0 12,5=(12,0+13,0)/2
CMmoJieHCK Kacarkun I'.B. b 4 13,0 12,5=(12,0+13,0)/2
Mocksa-2 Menskep O.B. b 3 15,0 14,5=(14,0+15,0)/2
PocToB-2 Bemunxwii I'.A. b 3 15,0 14,5=(14,0+15,0)/2
MopnoBus Kanamnukos B.IT. b 1 16,0 16,0

CrpaHuua 2




[ nepron

Komanna Cnoprcmen 3o0Ha Kontposb
XBocthl | Mecto

PocToB-1 Uymauenko FO0.A. B 14 2,0 2,0=(1,0+3,0)/2
MockBa-2 Kamunos [1.C. B 14 2,0 2,0=(1,0+3,0)/2
CMoJeHCK IMMamkoB E.M. B 14 2,0 2,0=(1,0+3,0)/2
C.ITerepOypr MyxoptHbix E.M. B 13 4,0 4,0
Mocksa-1 Hazapkun A.B. B 12 5,0 5,0
Yeis10UHCK Slmko M.II. B 10 6,0 6,0
Kpacnopap-1 [Tanuexun A.C. B 9 7,0 7,0
Mopaosus Xomenko A.B. B 8 8,0 8,0
PoctoB-2 I'pummn H.H. B 6 9,0 9,0
CraBponoJib Jlanta B.H. B 5 11,0 11,0=(10,0+12,0)/2
JInnenk HekpobuioB A.A. B 5 11,0 11,0=(10,0+12,0)/2
Caparos Koxesnukos C.B. B 5 11,0 11,0=(10,0+12,0)/2
TamboB benses O.H. B 4 14,0 13,5=(13,0+14,0)/2
Ilensa Kosanes B.I'. B 4 14,0 15,5=(15,0+16,0)/2
Kpacnogap-2 Xomomos A.C. B 3 16,0 15,5=(15,0+16,0)/2
SApocnasib Hemkun [1.A. B 3 16,0 15,5=(15,0+16,0)/2

CtpaHuua 3




	Лист2

